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E7} 125.6 cm<l Yo 2|29 Aol & cmU7}?
CR cm

>
> HED 40cm

125.6 + 3.14 = 40( cm)
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(45)=(A&)x3.14
16 x 3.14 = 50.24( cm)
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15 x 3.14 + 2 = 23.55( cm)
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9] 4ol : 10+ 2 = 5(cm)
=

Ho] 1 5x5x3.14 = 78.5(cm?)




® (¥9F) = (HA5) x2x3.14
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L
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>
[> e 37.68cm

Y3 1 6x2x3.14 = 37.68( cm)




255 T4 2.

>
[> HEeh: 471cm

75x2%3.14 = 15x 3.14 = 47.1( cm)




(1) 17 x 3.14 = 53.38(cm)
(2) 4 x 2 x 3.14 = 25.12( cm)
53.38 + 25.12 = 78.5( cm)
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12.85cm

(e E4) = (8F) x ; + A8

1
=5x3.14 x 3 +5
= 12.85(cm)
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4 5cm
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> HE . 2826cm

45%2x 3.14 = 28.26( cm)
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‘ 25.12x 2+ 3.14 = 16( cm)
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5cm QY.
(Y¥5F) =5x3.14 = 15.7(cm)
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16. thg T 99 Holo] g AL,

| 2
> ®ehl 204.1cm?

4X4x314+7%x7x3.14
= 50.24 + 153.86 = 204.1( cm?)




17. 957F81.64cm ¢ €] Wol= H em? AY71?

> EI cm?

> HEHD 530.66 cm?

Y25 1 81.64 + 3.14 + 2 = 13(cm)
o] go] 1 13x 13 x 3.14 = 530.66( cm?)
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[ Ix[ |x3.14=314
[ Ix[]

314 = 3.14

[ ]x[_]=100
D:lO(cm)
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78.5%

B ~

AR Wol : 8x 8 = 64(cm?)
o] Ho] 1 4x4x3.14 = 50.24( cm?)
wheba] o] Yol Az Holol
50.24 5024

i _ oYUeE o]
o X100==2 78.5( %) Y4t
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> HED 20.56cm

B

1
(6X2X3'14+2X2X3'14)X4_1+4X2

1
= (37.68 + 12.56) x  +38

=12.56 4+ 8
= 20.56( cm)
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AF7F69.08 cm ] A} =2 2] do]7t 36.4 cmQl
okt [ [otel e 2 oA,

2] gol7} HAk2tg Wolurt
[ Jem?w & 9&Uc

>
> ®EHD 297.13cm?

HO| B2 E
(HrA]2)x2 x 3.14 = 69.08

(HF2]5)x6.28 = 69.08
(9F2] )= 69.08 = 6.28
(S 5)= 11(cm)

2ol gol 1 11 x 11 x 3.14 = 379.94( cm?)
JArZYE o W olZo] & 36.4 +4 = 9.1(cm)
JArZYE 2] o] & 9.1 x 9.1 = 82.81(cm?)
(¥ wol)-(HAAZ 9 Hol)

= 379.94 — 82.81 = 297.13(cm?)
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> E: £m
> HE 90

> HE: 2em

469 ¥AE: [ ]

[ ]x2x3.14=287.92
[ Ix6.28 =87.92

[ |=8792+6.28

[ ]=14(cm)

A5 1 14x2 = 28(cm)
O S O
OxOx3.14 = 706.5
OxQO = 1706.5+3.14
OxO =225

O = 15(cm)

25 1 15x 2 = 30(cm)
30 — 28 = 30( cm)
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297 2ol D+ 0, @+ @ %42
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8X7—(4x4x3.14)

= 56 — 50.24

= 5.76( cm?)
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> = cm
> = cm?
> Hgh: 42.84cm

> HEH 92.52cm?

(Ed) = (12x2) + (6 x 2% 3.14) x % = 42.84(cm)

1
(Ho]) = (6x6) + (6 x 6 x3.14) x 1%2= 92.52( cm?)




